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Q1. Choose the correct answer. 1X10=10 SHsperne Sz Je.1 Ay
1. Sodium is extremely reactive metal, but it does not react with: J i uﬂs“; i S )3 .,,,,.._j: 2 Lj.‘,,.-_-,f:@j v 1
Phosphorus U#-6 (D) Sulphur 2+ (C) Nitrogen ¢~ ¢ (B) Hydrogen 7.t (A)

2. Which one of the following is the lightest metal?
Sodium (%5s (D) Lithium f.'.’;! (C)
3. Which one of the following is brittle?

Magnesium null (D) Selenium null (C)

4. Metals are the elements which have:

St (D)  Bothaandb usse s (C)
None of the above

9. Which one is the most reactive metal?
All of these % . (D) Gold ¢+ (C)
6. All metals bear:
None of these U 35 = % o (D) Both aand b Usss—sfilf (C)

7. Metal oxides are:

None of these null (D) Neutral null (C)

8. Non-metals are of heat and electricity:

None of these %' 3 ¥ = Ut (D) P2 e (C)
Moderate conductor

9. Which is a weak acid?
Hi-(D) HBr (C)

10. Platinum alloyed with which metal is used ad catalyst in automobiles
as catalytic converter?

Both a and b null (D) Gold null (C)

Q2. Write short answers of the following questions.

| . Why does it become easier to cut an alkali metal when we move from
top to bottom in a group 1?

Il . In the following reaction, chlorine acts as an oxidising agent. Which
is the reducing agent? Cla(aq) + 2NaBraqy — 2NaClaq) + Bry(g)

Il . Name any three elements in the periodic table which exist as
liquids?

Z,:*_.Ji'ﬂ:.g:.ufj_iﬁ.u 2
Magnesium ff:{? (B) Calcium (.'?-L-'( (A)

3

null

Aluminum null (B) Sodium null (A)
LR R 4

Bk 0 (B) A 0 A (A)
Electronegative character Electropositive character

I;T_.JE édxu}_i&gdf&ﬁdj&n k3]

Sodium %55 (B) Potassium r‘f ty (A)
S Fel B
Negative charge E-,.aLg;;iff (B) Positive charge &k sy (A)
g
null
Acidic in nature null (B) Basic in nature null (A)
Ll E et 8
Bad conductor ¥ (B) Good conductor /421 (A)
Z:;*_iﬂ;:/ 9
HCL (B) HF (A)
A0
null
Rhodium null (B) Palladium null (A)
2X10=20 S Mz L tspim 24 )y
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Cfg{aq}+2NﬂBr{aq} — 2N80|{aq}+Bfgig}?fﬂbuf:&il

?uji@agud&bﬂmfalftiﬁiué'u”aud&‘._.r’.%i. z .l
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IV . Why are transition elements different from normal elements? el iU = “H-Jul-i,w;‘:kju"d;:i;: '

V . Why does reactivity of metals increase down the group? ??J_ﬁ-u,{ ﬁ/ & 21 ;L}fﬂ-{:éif,-f .V
VI . How does alkali metal react with chlorine? ?ﬁ&/é;ﬂd;;ﬁ;ﬁﬁfﬂ .V
VIl . What do you know about group 17 elements? e el Tt L Vr‘uf'{lé']?.:,.;/f W
VIIl . What is the trend of densities of halogens? VI
null
IX . Define transition elements. -u_’,'// Y SRz, IX
X . What are noble elements? ?U;:.T_ﬂgu:"’ﬁljj . X
Q3. Write detailed answers of the following questions. 5X2=10 U1 M I Lty f50000 3 Aiy
1. Why do the chemical reactivities of alkali metals increase down the IR Tl EEJ/LL&:L;L)-‘:..;:J;L:@;E. =1 d;J_L,{I'L,f.' ,Jv-_jﬁ 1
group whereas they decrease down the group in case of halogens? Cus ﬂ#’ bz,

2. Both alkali metals and halogens are very reactive elements with roles ;}u;ﬁﬁ*r%dﬂmgLQ,JIJ/JBLLf,;_Qﬁﬁ;JIﬁﬁ 2
opposite to each other. Explain. i i
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